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1. Which two sentences use puncuation o show parenthesis?

Tektwo
st right, wewent ot thte 1
Ao e e, e aragedto gt s st e [7]
popcom and a drink. =
Ourseats nthe o th o v s perfct e, (3]

Al of us - ncluing my mum — enjoyed it very much.

Tk

CHALLENGE: Change the firs sentence so that t s writen inthe present progressive tense.
You may change some of the words.
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2. Underline the subject of the sentence below.

The ballroom dancer spun elegantly around the dance floor.

3. Which sentence is the most formal?

Tick one
It was obvious he couldn’t do it. 1
| suggested that he be excused from the lesson. 2
She was really desperate to get cracking with the task. 3
It’s impossible to tell whether it’s raining or not. a
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1. Add a suffix to the words in the boxes to complete the sentences.

It was pitiful to see the puppy left out in the cold.
t

pity

Her creativity was plain to see as the plate was beautifully decorated.

creative

1 mark
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2. Underline the subject of the sentence below.

The ballroom dancer spun elegantly around the dance floor.




